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Introduction
[bookmark: OLE_LINK10][bookmark: OLE_LINK11]We provide our evaluation result on RV cycling for PUSCH.
Evaluation result
The impact of RV cycling (Z=1 or Z=4) and symbol level combining for PUSCH repetition is evaluated in the condition of EPA, fD = 1 Hz, and RFO = 100 Hz. The detailed parameters are listed in the Table 1 simulation result with BLER performance is shown in Fig. 1. When Z=4, symbol level combining with 4 subframes (X=4) and frequency hopping with hopping interval of 4 subframes (Ych=4) are used. When Z=1, no symbol level combining is used and frequency hopping with Ych=4 is used.
Table 1	Simulation parameters
	Parameters
	Values

	Number of antennas
	1 × 2 with low correlation

	Number of repetitions
	NRep = 8, 16, 32, 64, 128

	Channel model
	EPA(Doppler frequency, fD = 1 Hz)

	Format
	PUSCH 1RB

	MCS
	9

	Carrier frequency
	2 GHz

	System bandwidth
	10 MHz
(The frequency difference of frequency hopping is 10 MHz.)

	Residual frequency offset (RFO)
	100 Hz

	Channel estimation
	Realistic

	Equalization
	MMSE-FDE
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Fig.1	BLER performance of PUSCH with RV cycling (Z=1 or Z=4).

Observation: RV cycling with Z=4 and symbol level combing provides better performance than RV cycling with Z=1 in large repetition case (R>=8).

Conclusion
In this contribution, we provided link performance of PUSCH with RV cycling (Z=1 or Z=4) and symbol level combining. Based on the simulation results, we provide the following observations:
Observation: RV cycling with Z=4 and symbol level combing provides better performance than RV cycling with Z=1 in large repetition case (R>=8).
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